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8. Which of the following are the characteristics of mass communication ?
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C.  If loss is one third of the selling price, the loss percentage is 25%.
D. By selling 100 pens, a vendor gains the selling price of 20 pens. His gain is 20%.

Choose the correct answer from the options given below : _
(1) AandBonly (2) BandC only  (8) CandD only (4) A and D only

Friteifian Foi 4 & %1 & Fom wa E2

A, TF Afad 7 fFEt a5 # 395 fﬁﬁ ‘X’ﬁ?%ﬂ‘@ﬁﬁﬁ?ﬂ‘X’ﬁS%ﬂﬁiﬁW%ﬁ
SHEI M9 25% | :fé |

B wﬁmmﬁaﬁaﬁﬁm@@#wmm%ﬁﬁwmm%mgmm
1 AN 1 & | SEEH A 11%% aL’l'“%i:; |

@l aﬁaﬁﬁmwmqwﬁﬁ%a‘%m%% il

D. wﬁhwoﬂamzoﬁq%ﬁmqa%wwumm%l TR TN 20% ¥
1 5 T feredt & 4 et 3 o e i -

1
¢




| — i

8 : TG yszlefnahc EHm-iT\ation of il
b chieve m - aneoy i e interes i
. 8 variables ogher than ghose you ar ted in can be

qualitative research \

(2)  correlational rescﬂfd‘

experimental research
(@) longjtudinal re!-lt‘-?‘r':h
o et foRn S Tl %7

o T T R

W@H mﬁmﬁmﬁﬂ%ﬁq
) qreffiTen ¥ (2)CyE st v
(@) 3t i
oh of the following statem Q
He succeeded in ents are l:mh’!gardmg Macatlay
o promOted § -replacmg Persian nglish as the adm‘m‘nﬁﬁﬂﬁ“e language.
He was inspi :I‘m & of English Spegkifg Indians a8 teacher
p. He promoted “useful learning”
Choose the correct answer from the options given bell
en ;
2 (4) A, B, Cand D

1) A and Bonly (2

< TETEEhT HIH o &Y W HEE w3 '@,m'ﬂ@aﬁﬁﬁqtﬁaﬂ‘mg‘
< foerhi % &9 8 ST ser o %wmﬁﬁm\ﬁam‘
ﬁﬁmﬁ?ﬁﬁgwm‘ gi_‘_;;
m**mﬁmvfamﬁ%ﬁ

15

D.
@) ol A B (2) ’%Tol?rBai‘Rci‘:*:’(sj- B asve @& A,B,C D
o i
dentify the correct sﬂuimce of the cycle of self—regulated learning:
A. Enacting Tactics and strategies B.  Devising Plans
Setting Goals { D. Regulating learning
Analyzing the task
sy Tt 2AferT = e Wﬁq@ﬂmt
A, ToRfadl O A = S ;égl; s S
arfer R
c. AT ; [
g wA-fawEd EEéi .
Choose the correct %:I:‘-!"'lf?fﬁc.-’m ﬂ‘e,og?o_ e
= e SO () 5CBAD @ AP C,D,E
(l) Dr Bf C!_ Af E .J Lk e/ ‘./" .ny (Gl —
| . B 002




_nswer the questions that follow (46 - 50) ’
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Read the following passage and ansWe* the questions that follow (1 -.5) ;
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Table - I : Disease - Wise percentage of Patients in the world.
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